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Name ______________________________

1.  Suppose you analyze 50 potential projects (none of which are mutually exclusive) using all of the capital budgeting rules discussed in the review sheet.  Which of the rules based on cash flows will likely disagree with net present value the most often?

2.  List the reasons why accepting the project with the highest accounting rate of return might not increase the value of the firm the most.

Use the following information for questions 3 and 4:

Dole Computer (the computers come in either banana yellow or pineapple yellow) is considering adding a new factory to increase production.  Calculate the impact on the cash used in the capital budgeting analysis of the project flows 3 years from today.  Throughout, assume that Dole’s marginal tax rate equals 35% and that sales are projected as follows:  year 2 = $50 million, year 3 = $55 million, year 4 = $65 million..  Note:  answer 3 and 4 separately.  

3.  Net working capital at the end of the current year will equal 25% of sales in the following year.  

4.  Construction costs for the new factory will be $125 million.

Use the following information for questions 5 through 7:

Trump Inc. is considering expanding its real estate empire by building a presidential palace.  The current value of Trump’s assets is $850 million.  The presidential palace will require an investment of $100 million and will be funded with $20 million in cash, bonds that mature in 4 years for $60 million (with an estimated value today of $35 million), and an equity issue.  The net present value of the palace is $15 million.  The standard deviation of returns on Trump’s existing assets is 47% and the standard deviation of returns on the palace is 58%.  However, due to low correlation between the project and the firm’s existing assets, the standard deviation of the firm after building the palace will fall to 45%.  The firm’s total debt before building the palace has a current market value of $600 million and matures 4 years from today for $1.2 billion.  After the project is undertaken, the value today of the original debt is expected to rise to $610 million.  Assume you are wishing to value Trump’s stock after building the palace.  What would you enter for each of the following variables?

5.  Dt
6.  V0

7.  2

Quiz II; F4360; 12:30 Class; Fall, 1999; page 2 of 2

8.  List how increasing debt in a firm’s capital structure can help resolve conflicts between stockholders and managers?

9.  Crucial Systems Inc. has implemented an EVA bonus system using Harnischfeger’s self-adjusting target methodology.  Crucial’s target EVA for 1999 is -$35 million.  Assume that in 1999, Crucial’s actual EVA equals -$15 million, and that in 2000, Crucial’s actual EVA equals +$20 million.  What will Crucial’s target be for 2001?

10.  In 1998, Randall Tobias (CEO of Eli Lilly) had a target bonus of $1,200,000 and an actual bonus of $2,198,816.  If Eli Lilly’s target EVA was $350 million for 1998 and the EVA leverage factor was $250 million, what was Eli Lilly’s actual EVA for 1998?







